inning

the beq

-lllll"lllllll lllllll"lllllll lllllll"lllllll lllllll"lllllll lllllll".llllll lllllll"lllllll lllllll"lllllll lllllll"lllllll lllllll"lllllll lllllll"llllll

-
.;...........
.;...........
.;............

I:Illlll

I:Illlll

I:Illlll

I:IIIIII

Y
.
.
.
.
.
Y
Y
.
.

eennnna
Weannnnn
Weannnnn
Weannnnn
eannnna
eannnna
eannnna
eennnna
Weannnnn

-llll-"-llllll llllll-"lllllll llllllI"lllllll llllllI"lllllll llllllI"-llllll llllll-"-llllll llllll-"-llllll llllll-"-llllll llllll-"lllllll llllllI"llllll

lllllmlllllllmIllllllmlllllllmlllllllmlllllllmlllllllmlllllllmlllllllmlllllllmlllllllmlllllllmlllllllmlllllllmlllllllmlllllllmIllllllmlllllllmlllllllmlllll.



the middle i
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the middle ii

Row 1 (RS> P2, k2, p4. k2, p3., k2., p1l,
k2, p3, k2. p4., k2, p2.

Row 2 (WS>: K2, p2, k4, p2. k3. p2. k1,
p2. k3, p2, k4, p2., k2.

Row 3: P2, k2, p4, 21 LPC, 22 RPC,
pl. 2.2 LPC, 271 RPC, p4., k2., p2.

Row 4: K2, p2, (k5. p4> x 2, kb, p2, k2.
Row 5! P2, 21 LPC, p4, 22 RC, pb5,
2/2 RC, p4, 21 RPC, p2.

Row 6: K3, p2. k4, p4, kb5, p4, k4, p2,
k3.

Row 7! P3, 21 LPC, p2, 21 RPC, 22
LPC, p1, 22 RPC, 21 LPC, p2, 271
RPC, p3.

Row 8: K4, p2, k2, p2, k3. p2. k1, p2,
k3, p6, k4.

Row %: P4, 21 LPC, 21 RPC, p3.
decStol, p3, 21 LPC, 21 RPC, p4.
Row 18: K5, p4., k9, p4, k5.

Row 11: P5, 22 LC, p4, kihtf, p4, 272
LC, pb.

Row 12: K5, p4, k4, p3. k4, p4., k5.
Row 13: P4, 21 RPC, 21 LPC, p3, mnil,
ki, p1, k1. m1, p3. 271 RPC, 2-1 LPC,
pd.

Row 14: K4, p2., k2, p2, k3, p2. ki1, p2,
k3, p2, k2, p2, k4.

Row 15: P3, 271 RPC, p2, 21 LPC, 22
RFPFC, p1, 272 LPC, 21 RPC., p2, 271
LPC, p3.

Row 16 Repeat r»row 6.

Row 17: P2, 21 RPC, p4, 272 RC, pb5.
2/2 RC, p4, 2/1 LPC, p2.

Row 18 Repeat r»row 4.

Row 19 P2, k2, p4. 271 RPC, 272 LPC,
pl, 22 RPFC, 271 LPC, p4, k2, p2.

Row 208: Repeat row 2.



the end

C0 72 Sts.

Join and work 18 rds.

Inc 1 »d of =K1, YO.x,

Work 18 rds. Inc 1 »d of =K3, YO=,

Uork 18 rds. Inc 1 »d of *K2, YO, York 10 »ds.

Inc 1 »d of =K3, YO=. UYork 6 rds. Divide for body.

Body

Select 144 needles, 72 green, 72 orange. Cast on waste yarn. Change to working yarn, knit 1008
rows. Change to waste yarn. Take of f machine. Repeat. Kitchener body to yoke. Pick up edge sts,
work 12 rows of K1, P1 rib. Bind off.

Arm

Select B0 needles, 40 green, 40 orange. Cast on waste yarn. Change to working yarn, knit 120
rouws, dec 2 st per side every 20th row. Change to waste yarn. Take of f machine. Repeat. Kitchener

sleeve to yoke. Pick up edge sts, work 12 rows of K1, P1 »ib. Bind of f. Yeave in ends.



